
Monteringsanvisning

Jazz

GFC-22040752/2240



Du behöver

ca 1 timmar

Lägg din produkt på ett mjukt underlag när du monterar

2 personer

2



Ingående delar 

3

M

K

L

H

J

I

D

A

B

A

B

E

F

F

G

C
Antal mm

B

A

C

D

E

F

G

H

J

I

K

L

M

6

6

2

1

2

4

2

1

2

1

1

2

1

Dia.19*740*370

Dia.19*320*660

520*470*660

1060*470*660

545*40*15

Dia.19*530

Dia.13*510

1085*40*15

Dia.13*520

1075*260

820*445*20

Dia.19*445*380

789*414*5

Antal Nr mm

O

N

P

Q

R

S

T

M6*50

M6*30

Dia.12*10

M6*10

Dia.12*4

Dia.13*5

M6*35

12

18

54

22

6

32

2

N O

P Q

R S

TTT U

U M6*208



Montering
Följ instruktionerna steg för steg

4

1.

A B

2.

F S N P



4.

GC

3.

Montering
Följ instruktionerna steg för steg

5

FCA B QO P RS



Montering
Följ instruktionerna steg för steg

5

5.

6.

C

E

A B QO PS

A B



7.

8.

Montering
Följ instruktionerna steg för steg

6

J D

IA B H N PS



9.

10.

Montering
Följ instruktionerna steg för steg

7

IA BD QO P RS

QT PSHID

T



11.

12.

Montering
Följ instruktionerna steg för steg

8

A BD QO PS

M UK L

L
L

PQ

U




